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Definition 3.2 A sequence (x,,),.y eventually has a certain property lf
~ there exists an ng in N such that

(‘n)"_”" = (‘Il" ‘"0 | ‘n‘,b'.’ L °)

is property. ‘\

‘bﬂﬁ-mw

ﬂ,”m x..n WX—

n—~>600

Mean §

VEP0 JMEN sk, |Tn—%(<¢ for 02

egguvelully

N L [} p ?
dion v What datg na’ww AT TMasn




Mbt(w Ln = ”

Al Vero 3N st Vazn, hads(|Tn™ %<2

& —=,

Jes0 ot YmelN 3130, 6k, [xf-z\ze |

> &

1, bt
y 4
r \ 0, = \ ~
ol M 5, =9
| e 1)
wmee ©70

. N \“/‘
T €70 . Aot o Moo Ty Ku Ardlnedin Princiele
e o m@ N suh St <€,

T it nIMm A <= omdd
n o




T 04v<] ¢ e ™ =0

n—> s

. _
5ol\n\rub = L 2=

e < Rour 72 S0

Nbw, 1w B et es > WL Dol

n i
—~ —
r (14~ \N

QT’&)

B(b Bemmn,l‘s ﬁh&wx“’d\ ..

10. Prove Bernoulli’s iﬁcquulily: If x > =1, then (1 4+ x)" = 1 4 nx for each
nin N,

W bave that Q*‘ﬂ“?\’m\t oV - .\.,‘_é L dnoe
Q‘t"x)' VvV VIVAL
-—D P
| how bow
n,
"= e *
&£
Clatwm Mo 7 =0,
I~
' ‘\ s
./\rS\'~ >0 chotie m, > —T— avwna, N
— i b Axdh .
Thm My Ne '\‘,MY‘L'{“-% 5 uabsum.
; e = =1 >0




Py Benoullis muwmlﬂ-aé xx) ¢ (txn . Towfee

{
) | —
gl e g € ¢ T T
.L . E
A
-
e > =
bY t
*ﬁ;( e
\33 MeAnr wmudrian
P(‘tﬂp\\.w
-./-\ e — _/\\/\ N
D
\')V‘opbﬁ}(ﬁm —wity one VUM gAML
e v w =72 w = 2 T
n~Yor W~>2 .

| ot ;tqé\.} Mo Pams 1S oo MT%\I)&Mob UU’\—?Li

ok o m&;ak\)m\wed \ c‘g,ub 2ol

VoN=0.
kTaegp kede e
W
X4 }

IV Lo~ i) e
A '31 vl_ )ﬂ.

Yl oY =,
P
e T 0.cN 5 nE ol N

/




o B«é A kuhon %ﬁbkxw'-\)‘_ ™TMeoms (A )pen 'S

q

emw e\

AneN swh TneVN dnalt wzay

Ny = M N

Tan e UL Buk swe GaV= 0 Hus o o poutrrdiorion.

/\v/_\ . e

N—— N~——— o ~— ——
g&‘h‘ow 3% Lot Laws

b A 92,“” U /\'x_,,,‘)c_‘m 1S Saich to be ‘VCNMMM

P AR st x| B Kram meN,

Propssshiom . T v X =% Pua (’J@w\)%,\w % borwmdas
~— et .

N\ -5 00

- AN ~
—

exisy €50 pmet Ny &W  sudt ¥t 1,174 fnall azn,




